= |E3d

A

) |oacs
PORT. :hager

Product Environmental Profile

Aerial socket outlet 2hole throughpass soc., 13 dB, 1930/Glas/R.classic

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Protect, link by a connection point for 30 years (reference service life) with a 70% use rate for an application

WDF45922 Residential exluding LAN.

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference

3.11. Copper Telecom accessories product.

PEP ecopassport 1/6 HAGE-01491-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
g % % %

ABS 1.80 1.3% Zamak 73.06 50.8% Cardboard 52.25 36.3%

PE-LD 0.68 0.5% Stainless steel 4.60 3.2% Wood 3.42 2.4%

Epoxy resin 0.26 0.2% Steel 4.40 3.1% Glass fiber 0.38 0.3%

PET 0.14 <0.1% Tin 1.02 0.7% Vinyl Ester Resin 0.03 <0.1%

Phenolic resin 0.00 <0.1% Ferrites 0.90 0.6% Other 0.09 <0.1%
Other 0.72 0.5%

Total m.ass of reference product with raw material 143.75g
packaging :
Total mass of reference product

(Product + packaging) (3c52d

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Distribution Installation (VET) End of life Module D

Manufacturing

=)
£
5 S g
L 2 =] 20 =
c = = c Q o Q0 ©
S ° < c = 5 5 = = 2 2 R
3 8 S kel ° © 3 2 cS 85
o 5 = = c = s £
g2 2 = e se S s Q = c 28 | 29 5 IR o2 S 8
X0 ] = c @ Q =0 o @ 5 S Q =i o =2 2o _ o
a 5 Q c o T 2 c . k] 8 $S = b B T e
23 £ 2 20 S o L= S H aE: 5 =7 g o o ® g > 2 2E
T g g 8 3% TS S3 5} S 8 S g | 88 2 &S g & 0 2
= O £ iy 2 = QS = o @ ° = @ = 0 17} 2= 5z [} o >
o g =} =) T [SR+] < o a 0 35 == c S o Q = = 0
= <) c < 0 puie] NS = aQ O 53 £ T2 = 8 a i
i) = I} 2 G 2 © 5 2 Q x o 9 T o o} = 5 c 8 D o
E g © = oa = o 2 = ['4 = £ Qc [a) Ll ] o 2 cc
2 g » 2 > P = £ 5}
Q ] ] < o [5} = O m o
© %) < < = = 2 o T 0 2
14 c = = 2 © £ o 3 S
o w = =} ?
= K] o
k)

B3 B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
1ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation
Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.
This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time

0 70.0% 0 30.0% 0 100.0% 0 0.0% 0 0.0%

This corresponds to a total energy consumption of 0.00 kWh for the use span of 30 years.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

PEP ecopassport 2/6 HAGE-01491-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 70%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (I), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.3-9 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 Ad A5 C1-C4
Europe Europe Europe Europe

Environmental impact indicators

: . Manufacturing Distribution Installation Use End Of Life

Indicators Unit A1-A3 A4 | A5 B1-B7 c1-Ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 1.94E-03 3.55E-05 1.60E-04 0.00E+00 1.05E-03 3.19E-03 -2.67E-03
Climate change - Total (PEF-GWP) kg CO2 eq. 4.19E-01 2.27E-02 1.32E-01 0.00E+00 1.87E-01 7.60E-01 -3.18E-01
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -6.68E-02 3.74E-05 8.08E-02 0.00E+00 8.92E-03 2.29E-02 -1.22E-02
Climate change-Fossil (PEF-GWP) kg CO2 eq. 4.86E-01 2.27E-02 5.16E-02 0.00E+00 1.78E-01 7.37E-01 -3.06E-01
Climate change-Land use and land use change
(PEF-GWPIu) kg CO2 eq. 2.60E-08 3.44E-08 5.04E-10 0.00E+00 6.27E-10 6.15E-08 0.00E+00
Ecotoxicity, freshwater (PEF-CTUe) CTUe 2.79E+00 6.50E-01 7.55E-01 0.00E+00 1.95E+00 6.14E+00 -1.25E+00
EF-particulate Matter (PEF-PM) '”g;:g;‘;::f 3.66E-08 3.05E-10 9.38E-10 0.00E+00 1.13E-08 4.91E-08 -2.52E-08
Eutrophication, freshwater (PEF-Epf) kg P eq. 1.81E-06 8.47E-08 7.45E-07 0.00E+00 5.51E-06 8.14E-06 -8.93E-05
Eutrophication, marine (PEF-Epm) kg N eq. 4.17E-04 6.46E-06 6.82E-05 0.00E+00 1.93E-04 6.84E-04 -3.06E-04
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 4.23E-03 7.09E-05 4.94E-04 0.00E+00 1.62E-03 6.42E-03 -3.54E-03
Human toxicity, cancer (PEF-CTUh-c) CTUh 5.26E-08 4.40E-12 5.94E-09 0.00E+00 3.11E-09 6.17E-08 -4.57E-09
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 1.75E-08 8.39E-11 1.62E-10 0.00E+00 5.42E-09 2.32E-08 -1.60E-08
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 7.90E-02 7.96E-04 8.17E-03 0.00E+00 8.82E-03 9.68E-02 -7.46E-03
Land use (PEF-LU) No dimension 2.88E-02 1.50E-04 5.00E-03 0.00E+00 4.45E-01 4.79E-01 -8.08E-01
Ozone depletion (PEF-ODP) kg CFC-11 eq. 2.71E-08 2.64E-10 7.93E-10 0.00E+00 1.43E-08 4.25E-08 -1.36E-08
(F’F[‘gl‘:‘fg'zfé”;ja' ozone formation - human health |+ o6 N\MVOC eq. 1.15E-03 2.29E-05 1.12E-04 0.00E+00 4.70E-04 1.75E-03 1.21E-03
Resource use, fossils (PEF-ADP) MJ 8.02E+00 4.03E-01 5.26E-01 0.00E+00 2.37E+00 1.13E+01 -3.38E+00
RS LD LS kg Sb eq 1.02E-04 8.22E-09 1.22E-08 0.00E+00 1.40E-06 1.04E-04 -1.10E-05
(PEF-ADPe)
Water use (PEF-WU) m3 eq. 3.55E-01 8.33E-04 4.48E-03 0.00E+00 1.43E+02 1.43E+02 -3.01E+02
Resource use indicators

. Manufacturing Distribution Installation Use End Of Life

Indicators A1-A3 Ad | A5 B1-B7 c1-Ca | GLOBAL | Module D
Net use of fresh water 8.32E-03 1.94E-05 3.55E-04 0.00E+00 3.45E+00 3.46E+00 -7.02E+00
Total primary energy 1.09E+01 4.05E-01 6.35E-01 0.00E+00 2.78E+00 1.48E+01 -4.12E+00
Total non renewable primary energy 8.02E+00 4.03E-01 5.26E-01 0.00E+00 2.37E+00 1.13E+01 -3.38E+00
Total renewable primary energy 2.92E+00 1.65E-03 1.10E-01 0.00E+00 4.13E-01 3.44E+00 -7.43E-01
Non renewable primary energy used as energy 7.89E+00 4.03E-01 5.26E-01 0.00E+00 2.37E+00 1.12E+01 -3.38E+00
M 1D T ISl (= 1.28E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.28E-01 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 1.91E+00 1.65E-03 1.10E-01 0.00E+00 4.13E-01 2.44E+00 -7.43E-01
Renewable primary energy used as raw material 1.01E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.01E+00 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 3/6

HAGE-01491-V01.01-EN



Waste category indicators

Indicators A1-A3

Hazardous waste disposed 8.84E-01

Manufacturing Distribution

A4 |
9.57E-05

Installation
A5

3.04E-03 0.00E+00

End Of Life
C1-C4

2.08E-03

GLOBAL

8.89E-01

-3.17E-06

Non hazardous waste disposed 9.15E-01

2.11E-03

1.53E-02 0.00E+00

4.04E-05

9.32E-01

-1.13E-03

Radioactive waste disposed 1.06E-04

1.67E-06

3.49E-06 0.00E+00

3.16E-08

1.11E-04

-7.46E-07

Output flow indicators

Indicators A1-A3

Components for re-use 0.00E+00

Manufacturing Distribution

A4 |
0.00E+00

Installation
A5

0.00E+00 0.00E+00

End Of Life
C1-C4

0.00E+00

GLOBAL

0.00E+00

0.00E+00

Exported energy 0.00E+00

0.00E+00

0.00E+00 0.00E+00

0.00E+00

0.00E+00

0.00E+00

Materials for energy recovery 1.49E-03

0.00E+00

4.46E-03 0.00E+00

0.00E+00

5.95E-03

0.00E+00

Materials for recycling 2.80E-02

3.85E-12

4.06E-02 0.00E+00

7.02E-14

6.85E-02

0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01

3.78E+01

3.95E+01

5.22E-02 3.75E-07 3.42E-03 5.57E-02

Biogenic carbon content (declared unit) 1.46E-02 1.42E-07 1.35E-03 1.60E-02

Biogenic carbon content (functional unit) 1.46E-02 1.42E-07 1.35E-03 1.60E-02
ADEME APESA/RECORD EN 16485

a g 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Bioge arbon content (declared go 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Bioge arbon conte I go 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

Additional references (see Appendix) covered by PEP, the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA). The impact values are either directly
calculated by LCA or by extrapolation following PEP Ecopassport rules. However, some of the detailed conditions applied in those cases may differ from the main reference.

Verification

Drafting Rules

PEP-PCR-ed4-2021 09 06

Registration N°:  HAGE-01491-V01.01-EN

Supplemented by

PSR-0005-ed3.1-2023 12 08

Verifier accreditation N°:  VH35

Information and reference documents: www.pep-ecopassport.org

Date of issue: 3-2026

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019

The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :
The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics

application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.
The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

4/6

..., real values for a product in a concrete

HAGE-01491-V01.01-EN



Appendix

S
3
+
I
o
]
£
[
<
L
w
=
c
S
©
S
b=l
S
<

Climate change - Total (PEF-GWP) - [kg CO2 eq.]

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]

Climate change-Fossil (PEF-GWP) - [kg CO2 eq.]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]

Components for re-use - [kg]

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]

Eutrophication, freshwater (PEF-Epf) - [kg P eq.]

ion, marine (PEF-Epm) - [kg N eq.]

Eutrophicati

Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]

Exported energy - [MJ]

Hazardous waste disposed - [kg]

Human toxicity, cancer (PEF-CTUh-c) - [CTUh]

Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]

Land use (PEF-LU)

Materials for energy recovery - [kg]

Materials for recycling - [kg]

Net use of fresh water - [m3]

Non hazardous waste disposed - [kg]

Non renewable primary energy used as energy - [MJ]

Non renewable primary energy used as raw material - [MJ]

Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]

EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq.]

Radioactive waste disposed - [kg]

Renewable primary energy used as energy - [MJ]

Renewable primary energy used as raw material - [MJ]

Resource use, fossils (PEF-ADPS) - [MJ]

Resource use, minerals and metals
(PEF-ADPe) - [kg Sb eq]

Total non renewable primary energy - [MJ]

Total primary energy - [MJ]

Total renewable primary energy - [MJ]

Use of non renewable secondary fuels - [MJ]

Use of renewable secondary fuels - [MJ]

Use of secondary material - [kg]

Water use (PEF-WU.

oD M

S < sooeas| sueor| aseor| ariear| soeos| omewo| ssrecn| sreos| ssueos| asseas| ooesan| 1ol roseor| ssiean| vseor| srmece| asseas| soeoo| vosece| rsvean| reseior| zsseor| suseon| rsveos| 2sneos| 2rzeas]| sacerco| 2oresof roveian| 2oseas] veoesor| arseion| saserso| oooesoo| oooeion) oooertn| 70k

=

=

2 < WDF4589 roreas| szmeor| omer| ssuean| aoion| owocen| ssmeeo| vsseos| sazean| sasean| oween| soseor| ssseas| rmean| sooese| wece| vsren] ssse| wens| oseor| romeen| ssoeor| srmeas| amesm| ieos| rorcor| roseso| rozeo] sian| roseor| sizesn| raveeo| zoseto] ooeean| osocen| osnern| ssmear

o

5 WDF4592

5 roreas| szmeor| ome| asuean| aoion| omocen| sameeco vsseos| aazean| saseas| oween| soseor| ssseos| rmean| soopse| owece| 1sre| ssse| wiens| oseor| romeen| ssoeor| srmeas| amesm| ieos| rorco rosesco] rozeo] sian| roseor| sizesn| raveeo| zoseto] oveean| osocen| oonern| ssmear

=4

g WDF45921 roreas| szmeor| ome| ssuean| zoion| omocen| sameeco| vsseos| aazean| saseas| owern| soseor| ssseas| rmean| soopse| ewece| rsren] ssse| wens| oaeor| romeen| ssoeor| srmeas| amesm| weos| rorco| roseo] rozeo] siean| roseor| wizesn| raveeo| zoseto] oveean| osocen| oomern| ssmear
WDF459211 [ RE [T e R R R T R e e e e e e e
(DIZEEPAPII o] 1socon| 2vece| romeo] sorear| ovoon| imceor| aoseos] r2zeen) raseo| wsson| rscor| asseos| vsueos) woreso] amess| asveos| sseer] vsueea) voseeso] zesen| rorcen| sieos| soses| soeas| zoseon| sowen| stocor] asen| wseas| zsseon| soseeor| sareso] ooveo| ooeto| ssrean| sscor
(DL RR I oeco| voscon| 1ssccr| raneo] soseas] ovoon| roreeor| aoreos] vaseon) rase| rosos| vireen| srocos| sreees) wreeto] rovse| amecs| amece| vsveea) roreeso| assen| rsscor| asueos| sose| asess| svean| vween| sreor| ane| sseas| aren| ameeor| 2omeso] ooveco] ooeto| zasan| ssieor
WDF45923 sorcos) aaien| ameae| soocor| coos] omeo| zvo] rssan| szeor| ameas| oomeoo| svean| sseon| irscor| swece| sumea] rsvess| amne| sies| ozeor] roseco| roean| avseon| srocon| vsocan) voreos| roseeto| rcaeon| srzeen| soneos] wraeo] o] zosern| omeen| oonero] aooeo] ssoear
WDF4593 sorcos) aaien| ameaa| soocor| cvos| ooeo| zvo] rssan| szeor| ameas| oomeoo| svean| sson| irscor| swece| sumea] rsrems| amne| sies| oaeor] roseco| rean| avseon| srocos| vsoean) voreos| roseeto| scaeon| srzeen| soueos] wraeo] o] zosern| omeen| oonero] aooeo] ssoear
WDF459311  [RE [ [ R P e R R R T R R e P e e e e
(UDDZEEREPII ooccos| voocon| 2siecr| ronmo soseas] ovoon| imecor| soneos| vsseon) rase| asnos| soscon| ssreos| vezeos) voceeso] ssnan| amecs| amece| osmes) roveuso] sssen| roscor| azeos| roneos| sseas| soean| vuscen| saseor] aren| wseas| ameon| amseeor| 2soeso] ooveo| ooeto| saan| ssecor
(UDIZEERER I <vcos| 17| roece] imeor] seas] oman| sisceor| 1sieos] vseos] roreas| rsiea| suco| awees| vieon] sorean| rosan| sesco ameos| sonees| rssean| sercn| sscor| asreos| sssees| asean| zosos| szveo| sreor] soreao] sess| sorcn| ssceen| somcor| ooveo| ooeto| smean| ameor
(UDDZEEREII o] rsccor| omece] roseor] wssear| oman| sviceor| 1sicos] vaseos] rrseas| sweos| aweor| vsocos| rseon] sorean| rosan| areo| ameos| rsmeos| raean| swcm| swscor| asreos| rores| aeon| zoveos| arcor| asseor] sszeo| sanean| seoen| sween| rancor| ooveo] soeto| sosan| ssscar
(UDDZEEREI <vios| rsscor| omece] voseon] soueas] omoon| susceor| 1sicos] vaseos] rrseas| smeos| rsscen| aoreos] voses| wrsean| rosar| areo| sroeos| sizees] vnean| swen| ssicor| aueos| ssseos| wear| roseor| o aoreor] suzmoo| rasean| seren| sween| roncor| ooveo| ooeto| roveae| 2mmeor
WDF4595 sisco| wnen| soeaa| soicor| roscos| oomeo] zoean| asmean| roocor| smeas| armeos| rowso] smiean| ascon| srreno] visea] swess| nsne| vorear| soeeo) anen| rosso| soson| svew| aseos] sszeos] sueso| reor| ameeor| suseos] ame| sowan| sssen| omeen| oonero] rueia| asier

c <

S I WDF45922 ruocos| asecs| rareas| ssccr| oorcos| omeo) rsoeo| rar| raseco| rsoeos] oomeoo| rovear] asre| rescro| 1sveos) aomeos] woveso| rrref ssscos| azreen) soneo| wooeeso| sarof svieo| asmeos| sseos| saseas| owocrn| swocor| soicos| soneon| woean| saeas| omeen| oonero] aooeo| roreas

5

2 WDF4589 ssscos| sece| ameas| aeco| sseos| ooeo] omean| wsreon| osscon| rsocos| ooeco| aoseas| asre| soen| soscos] rszeos] ooveso| swref roreos| arses) aoneon| wooeeso| zorerof swero| asueos| voseos| roreas| owocrn| ssscor| ssseos| aoneon| asoean| roreas| omeen| oonero wooeo| sueas

=

° WDF4592 ssscos| ssece| ameas| aecr| sueos| ooeo] omean| wsreon| osscon| rsocos| oomeoo| woseas| asre| soen| soscos] rszeos] ooveso| swref roreos| arses) aoneon| oooeeso| zerero| swero| asueos| voseos| voreas| owocrn| ssscor| ssseos| aoneor| asoean| roveas| omeen| oonero] wooeo| sueas
WDF45921 ssscos| secs| ameas| aecr| sseos| ooeo] omean| wsrean| ssscon| rsocos| oomeo| aoseas| asre| ssoen| soscos] rszeos] ooveso] swref roreos| arses aoneo| oooeeso| zerero| swero| asueos| voseos| voreas| owocrn| ssscor| ssueos| aoneon| asoean| roreas| omeen| oonero wooeo| sueas
IDIZEEP AR oveos| osocor| 1eor| ssen) saseas| ovoon| siocen| vmeor] vsoeos| rreas| ovoen| ruseo oroeie] ramero] riess| o] omcen| omero] asseos| sueas| waeor| oween| aziero] samero] amess| auson| oocos| ooero sameor| rareas| wzeor| sweor| soncos] ooveo] oeeto| ococn| raieos
(DZELPAPII -oeos| orcor| 1uscor| areer] sseas| ovooo| roscon| 1sseor| voneos]| rovean| ovoen| vasco| soreie] s3] razeas| rsiean| omcen| omero| aoteos| sneas| ssseor| oween| asiero srmeno| ssgeas| areon| aoseos| ooero| ssseor] rooeas| swseor| orocor| aoseos) ooveo| oeuto| ococn| roeos
IIDZEEPARII soeos| occco| 1sscor| samen| wmeas| ovoon| sszeor| vomeor] vseeos| rasean| ovoen| raoco sroeie| roser] swaear] rsiean| omeen| omero| aseos| asess| smeon| oween| sumeio sazero] soress| aseon| iries| omero| sreor| roeas| smeor| sreo| srieos] ooveco] soeuto| ococin| osocor
WDF45923 ssscos| sece| ameas| aeco| sseos| ooeo] omean| wsreon| osscon| rsocos| oomeo| woseas| asre| soen| soscos] rszeos] ooveso| swref roreos| arses) aoneo| woveeso| zorero| swero| asueos| voseos| roreas| owocrn| ssscor| ssseos| aoneor| asoean| roreas| omeen| oonero] wooeo| suean
WDF4593 ssmcos| ssece| ameas| amear| sueos| ooeo] cmean| wsrean| osscon| riocos] oomeco| woseas| assre| ssoen| soseos] rszeos] ooveso] swref roreos| arses aoneon| oooeeso| zerero| swero| asueos| voseos| roreas| ovocrn| ssscor| ssseon] aoneor| aoean| roreas| oween| oonero] wooeo| sueas
IDDZEERERII oceos| csoccr| 1srcor] amea) soseas| owoan| viocen| voreor| voneos| ravean| ovoen| rssco vsee] ruero] raeas| roonan| omoeen| omero| srseos| ssess| sweor| oween| asmero susero] soreas| zsson| avses| ooero| someor| reas| sweor| omeor| arseos] ooveco| soeto| ococn| rseos
(DDIZEEREPII cocos| oo vocor] szmen| asoeas| oweo| sszeor| vrocor] voseos| roean] ovoen| raocof saseie| romer] wusean] rsiean| omeon| omero| aseos| asess| smeon| oween| suseio| smeno] soreas| aseon| ires| ooero| sreor| roas| snear| sreo| srueos] ooveco] soeto| ococsn| ovear
(DZEERER I seos| eovcar| 1seos] sarean) rasen] ovoeao| riscor| vsscos] aseos| soreas| ovoesn| rscos| srrens| vezen| rorear] zoonon| osoesn| omer] ssseos| aorean] ameaef oween| sasen| vrzero] roseas| ssiear| sesco ooero| smecs| roean| sroe| sescor| auseos] ooveo| soeto| ococn| rsseor
(IDIZEEREVII xcos| esicar| irmeos] sues| wosea] ovoeon| ruscor| imeos] aoneos| saseas| ovoen| roocos| omers| imen| resear] zoson| osocon| omer] aoneos| asean| owresef owoeen| soren| vsven] woss| swor| oo ooero| osrecs] rosean| owrese| osocaa| asrcos] ooveo] soeto| ococn| eocor
IUIDIZEEREII cos| esicar| irmeos] sues) rase| ovoeoo| rascor| imeos] voreos| saseas| ovoesn| acocos| omers| smen| rsear] aaeon| owoeon| omero] aoneos| assean| owrese| owoeen| soren| vven] woeas| swor| oo ooero| osrecs] rosean| owreie| oseaa| asreos] ooveo] soeeto| ococn| eocor
WDF4595 ssscos| armece| rusar| sneco| sucos| ooeo) roseso] rwrear| roscos| vrocos] oomeoo| rsoean] ravere| rssen| vmes| rsseos] ooveso] oooesn| sovcos| suseas) soreon| wooeeso| asrof szoero| soreos| armeos| aveas| owocn| soreor| ssreos] soreon| woean| 2vnas| oween| oonero] wooeo] rsveas

[=To}

S < WDF45922 szcor| asean| reon| roseor| roneos] ooeo) rsteco] raeas| rsscorf omeos] oomeoo| woseas| risan| szven| ruseer] roneea] wores| wmse| rreo| someor] roseo] oooeso| rsveon| vescor| aseos] soneos| zvean| ococrn| roseon| auieos] roseo] rareso| 2aeor| oween| oonero] wooeo| soseas

[

= WDF4589 racos] raaeon| soseaa| sweccr| soero] ooeo] rasean| rasear| smeos| sseos] oomeoo| soeas| sweon| rezeo| srrees) sones| assess| sovwin| ssseo| rssear] saveon| oooeto| roserof ossern| vreeos] suseos| rioean| owocon| saseor| rameos) soneon| wsean| vioeor| oweon| oonero wooe| saseas

@ WDF4592 sucos] rsaeon| soseaa| sreccr| soero] omeo] rasean| rasear| sseos| sseor] oomeoo| soas| sweon| rezeo| srrees) sones| assess| sovwin| ssseo| rssear] saveon| oooeeso| roserof ossern| vreeos] suseos| rioean| owocon| sascor| rameos) soneon| wsean| vioeor| oweon| oonero wooe| saseas
WDF45921 sacos] rozeon| soseaa| sieccr| soero] omeo] rasean| rasear| sseos| sseor] oomeoo| soras| sweon| rezeof srreas) sones| assess| sovwin| ssseo] rssear] saveon| oooeeso| roserof ossern| vrzeos] suseos| rioean| owocon| saseor| rameos] soneon| wsean| vioeor| oween| oonero wooeo| suseas
(DZEEPARII -scos| coeor| sasecr| cmecr] reseo] owan| soreor| ssseor| sveos| ssaean| ovoen| rsseas| aven] wizen| woreas| woseos| asseas| irece| rsmeos] wmess| aseon| oween| sweio| asrer] suess| rsieon| suscor| oero| ssmeor| rasean| seor| wscor| suseor] ooveo] soeto| ocoen| 2vees
(DZEEPAPII o ocos| osscor| swece| someen) romeo] owoean| ezscor| areor| ssseos| arsean| ovoen| reoccs| ameoo] ousen| asess| osson| ceoccs| avoece| vsmeos] roese| swsor| oween| azero surero] wases| rsonon| soscor| oserno| soseor] rsean| swor| sueor| asmeor] ooveo] soeto| ococsn| 2eces
IDZEEPARII soeos| reoccr| oseas] roseon) soners| owoeon| rsscor| vsscor| rsueos| ssseas| ovoen| smeo| vrseo] suser| reas| sweon| rorecs| oseos] sameos| asiess| roeon| owoeen| 1seo| imer] sosess| svear| voreor| osero| rozeor] asro] roor| visco| ssreoe] ooveo] ooeeto| ococn| roscor
WDF45923 racos] raaeon| soseaa| sweccr| soero] ooeo] rasean| rasear| smeos| sseos] oomeoo| soeas| sweon| rezeo| srrees) sones| assess| sovwin| ssseo| rssear] saveon| oooeto| roserof ossern| vreeos] suseos| rioean| owocon| saseor| rameos) soneon| wsean| vioeor| oweon| oonero wooe| saseas
WDF4593 sacos] rsaeon| soseaa| siecce| soero] omeo] rasean| rasear| sseos| sseor] oomeoo| soas| sweon| rezeo| srreas) sones| assess| sovwin| ssseo] rssear] saveon| oooeeso| roserof ossern| vrzeos] suseos| vioean| owocon| saseor| rameos] soneon| wsean| vioeor| oweon| oonero wooe| saseas
IDDIZEERERII sco| oscor| sorecr sseor] smeo] owan| srcor| suseor| seseos| sorean| ovoen| ssecs| ameos] rsero] wsens| raosar| ameas| smeer| ameos| ress| asseor| oween| srseio] rasero] wvess| zeseon| suscor| ooero| sseor| aean| aseor| sscor| saseor] ooveo] soeto| ocoen| seseos
(DDZEEREPII oocos| corcar| sorcer| somen) soueo] owon| zscor| arseor| suseos| armean| ovoen| revecs| ameo] omen| wseas| omeos| sescas| avece| vomeos] omess| soor| oween| azeo| suero] wsreas| rseon| sooccr| ooern| soor] rsean| sosor| suscor| aomeor] ooveo] soeto| ococn| 2evees
IDIZEERERII o] owcar| swer| suecr] asero] ovan| socor| ssseor| warcos| wazean| ovoeun| roseas| areo] votero] aoneas| ruean| avoccs| asrece| sareos] rovess| sseon| owoeen| asreno] samero] rsess| amsean| arccs| osmero| ssmeor| vsvean| sseor| soreor| aroeoe] ooveo] soeeto| ococn| 2ceeos
IUDZEEREVI o] eoscar| sner| ssecr] aesero] ovean| ssscor| aseor] wsieos| ssrean] ovoen| 2ovecs| sses] roreo] soseas| roear| oseas| auseer| avews| roens| swror| owoesn| srreo] sareo] rseas| ameon| sssear| osero] sseor] rosean| sweor| soscor| aseor] ooveo] soeto| ocoern| swaeos
[ISIZEEREI o] eoscar| soear] sser] seseo] ovoen| ssscor| aseor| asieos| ssrean] ovoen| 2oveas| ssreos] roreo] sosess| o] ooseas| auseer| asens| roess| swror| owoeen| srieo] wareo] reas| ameon| sssear| osmero] sseor] rsean| swror| soscor| aseor] ooveo] soto| ocoern| swaeos
WDF4595 sucor] suecs| ssmar| srear| aueo] omeoo| suear| susar| ssseor| swror] ooeoo| roeas| aoson| vrseo| sueos vueos] sveas| asese| meo| rameer| armeor| ooceso| saerof amen| raeos| ssses| soess| owoern| reor| vsseo] armeon| sasean| sosean| oween| oovero] wooeo] sveas

o~

@ m WDF45922  [[F [ [ e e e e e e T N T T I T e

=) 1

o WDF4589 conevto| osmerco| ouoero] ocweeon| aooessn| oouerco| ousero] oon] aooevon| ooueco| ool ooero] sooeson| oovevso| osner o] sooeeon| covevsn| oanerco] otoero] scoeeon| aovevan| sonerco| oauer] o] acoeson| coverso| oanerc] coero] scoeson| covevsa| oanev] ooero] scoeeon| soveean| ocners| oseero
WDF4592 conevto| oomerco| ouoero] ocoeeon| aooesso| oouerco| ousero] oeon] aooevon| ooueco| osero] ooero] sooeson| oovevso| osner o] sooeeon| covevsn| oanerco| otoero] scoeeon| aovevan| oonerco| oauer] o] acoeson| covevso| oanerc| oero] scoeson| covevsa| oanev] otoero] scoeeon| soveean| ocnevs| oseero
WDF45921 conevto| oomerc| ouoero] ocweeon| aooesso| oouerco| ousero] oeon] aooeson| ooueco| osero] ooero] sooeson| oovevso| osner o] sooeeon| covevsn| oanerco] otoero] scoeeon| aovevan| sonerco| oauer] coeen| acoeson| covevso| oanerc| coero] scoeson| covevsa| oanev] otoero] scoeeon| soveean| ocnevs| oseero
WDF459211  [[FE [ e R P P e e e N T T e e e
WDF459212  [[FE [ L e P P R e e e e T e e e e
WDF459213  [[FEa [ L e P e e e e e e T e e T e
(ISP R o oc-co| ooueeso| osmerc] ooero] scnreon| aovevso| oonevc] ouoero] oeon] aooevon| oovesao| oasero] oero] sooeson| oovevan| o] ooero] scoeeon| covevan| osnerco| osoero] eeon| acoevon| ooverso| oaneroo] oero] scoeson| coversa| oanev| otoero) scoeeon| sovevan| oanerso| oaoero) scoeeon| acoevan| sonera
WDF4593 conevto| osmerco| ouoero] ocweeon| aooessn| oouerco| ousero] oon] aooevon| ooueco| ool ooero] sooeson| oovevso| osner o] sooeeon| covevsn| oanerco] otoero] scoeeon| aovevan| sonerco| oauer] o] acoeson| coverso| oanerc] coero] scoeson| covevsa| oanev] ooero] scoeeon| soveean| ocners| oseero
WDF459311  [[FE [ e R P e e e e T T e e e
WDF459312  [[FEa [ L R P e R e e e e T e e T e
WDF459313  [[FEa [ L R o P R e e T N e T e
WDF459314  [[FE [ L P e p e e e e e T e e T e
WDF459316  [[FE [ e R e e e e N e T N T T e
WDF4595 conevto| oomerc| ouoero] oweeon| aooevso| oouerco| ousero] oon] aooeson| ooueco| ool ooero] sooescn| oovevso| osner] oo scoeeon| covevan| oanerso| otoeroo] oeeon| aovevan| oonerco| oauer oceeon| acoevon| coverso| oanerc| oero] scoeson| covevsa| oanew] otoero] scoeeon| sovevan| ocners| oo
<

= WDF45922 2uoe| arean| meaa| ssseor| 1aseos] oomeo) soreco] rioas| ssscor| szees| oomeoo] wseas| wzon| roscon| 1roecr] wsmeo] ooveso] ragrs| ssocen| someos| areeo] woveso| assean| mseon| ovre] ssres| wasean| ocoern| areeen| asteos] arneo] sssto| szsror| oween| oovero] wooeo] 2

M= YT

50 WDF4589 soreas| ssocor| sooees] roieor| ssnerof omeco] ssseic] soiean] 1orear] reseas| omeno] 2iees] swean| soseas| ssvews| esseor] soorin] rumns| seo] areeos| zewin] ooeo| vuseo| vrseon] rors] swan| warean| oaerc| 2urein] roseon| 2| 2aseco] aveor] soorin| sovess| ooveno| 1ucerd

el

2 WDF4592 soreas| ssocor| sooees] roieor| oserof omerco] ssseio] soiean] 1orear] reseas| omeno] 2iees] swean| soseas| ssvews| esseor] soorin] rumns| smo] areeos| zewin] ooeo| vuseso| vrseon] rors] swan| warean| oamerco| 2urein] roseon| 2| 2aseico] aveor] soorin| sovess| ooveno| il

w
WDF45921 soreas| ssocor| scoees] roieor| osnerof omenco] ssseic] soiean] 1orear] reseas| omenco] 2iees] swean| soseas| ssvews| esseor] soorin] rumas| smeo] areeos]| zein] ooeo| vuseso| vrseon] roes] swan| warean| oaero| 2urein] voseon| 2| 2aseco] aveor] soorin] sovess| ooveno] 1ucerd

PEP ecopassport

5/6

HAG!

E-01491-

01.01-EN



s sneo] snca] rueo] nce] anto| savor] sse] soca| o] ovc] vor] sseo| sseo] o] saco| oneor] oweu] suca| o] soe] cow] nea| reea] suee] smeo| smco] oven] zsen| rsto] sown] zoe] sveo] vuee] sme] smn] oo
caes] smeo| soeal o] ires| anto| saver] swa| swca| o] ove| inen| soeo| o] voea| svco| oneor] owe| sota| o] sue] oow| el ] suee| sseo| sreo| oven| cuve| rao] suen] | sreo| vee] smen] smen| suco
e sneo| sucal rseo] | ano| saven] | smca| soeo| ove| voee| rewo| sueo] inea| ssco| oneor] owe| soca| sato] soe] oown| sswal srea] snee| anco| suto| oven| zse| o] sown] su| soeo| vee] smen] | suco
o] sneo| sneal rsco] | ano| saven] amea| soea| sweo| ove| vsta| roeo| o] vace| suco| oneor] owe| o] rse] soc] cown| soca| rea] suee| roco| sneo| ove| zoee| rua] sown] zmw| sreo| vee] smen] smen| o
e sneo| sncal rseo] | ano| soven] sea| soc| sseo| ove| wwen| roeo| weo] inea| sseo| oneor] owe| suea| swto] soe] cow| ruea| sua] sore| smeo| sreo| ove| zue| o] soem] suw| sreo| vee] smen] | soro
e sues| sowo| roo] | amo| suo| avea| suce| ssol ove] vuen| sseo| wen] isee| soeo| oneor] owen| ruco| sstol nea] cown| soee| suen] soeu| soco| sreo] oven| iueo| ssal ea] soeo| sreo| veee] saen] smen| e
soes] soea| rseo] nen| imee| oneer] crea| snce| suwo] ra] ooer| el snea] sres| suco| o] owe| aote| o] o] soco| ] ] soen| soce| suco] caen] | o] ] sweo| o] e cow] ] vere] e
wes] soco| soca] sneo] 1sei| amo| sseen] aneo| soea| zuco| ove| suen| ol sseo] | suco| oneon] owe| suve| roro] sue] ooen| ssal el sueo| ssco| o] ouen| sutw] o] suen| | o] sor] sown] smo] 1o
cseo] asea| suca| suo] oven] oomn| sus| rreo] aee| sove| oncor] asee| sute| sual o] ] amere| oneen] suen| smeo| sneo] sve| anee] soal ssea] o] o] vaeon] snen| 2ven| aneo] ape] ] ] soc] oo sses
sneos] ssia| snco| sso] ove] oomn] ises| sreo] nee| auco| oneor] o] swto| o] roes] suco| amere| oneon] amen| ante| saror] ove| sore] sstal ruea] sven| sweo| varon] soen| sweo| saro] swe] sveo| ] sore] soen] e
o] suca| soco| smo| ove] oomn] sses| suce] avee| anco| oneor] suco| sven| suo] roes] sneo| amee| oneon] aricn]| anee| sacor] ove| svee| sual ] swen] aneo| veeo] suen| sweo| saco] sven] aneo| ] sec] oo e
o] sse] ssco| suco] oven] oomn] sres| rueos] asee| 2uco| oneor] ssce] snco| sseo] soce] s amee| oneen] scin| anee| saeo] oven| snen| sna| 1] sven| smeo| veeo] soen| suen| sawo] anc] sneo| ] sec] ss] 1z
crs] sota| smca| suo] ove] oomn] sre| sveo] se| svco| oneor] soee| swsn| ol rucs] ssco| amee| oneon] suen| sveo| saco] ove| ssen| ssea| ruca] | sseo| vee] suen| sves| saco] spc] sve| ] soc] oo sere
ers] soia| snca| suo] ove] oomn] o] sveo] ce| svco| oneor] s awsn| ol rucs] ssco| ames| oneon] sun| sveo| saco] ove| ssen| ssea| ruea] | sseo| vee] suen| sves| saco] soc] sveo| ] sec] oo s
cxeo] coee suco| e ove] sven| soea| coo] e | <so] sseo| anco| el soeo] owe| amee| s owe| sie| o suce] snen] sveo| ruen] srzo| wes| smeo] sxen] sire| o] snen] oown] ssee] vere ssen
] s swco| suco] ove] oomn] suers| rues] asce| avco| oneor] ssce| sun| ssto] suce] sven] ames| oneen] ssee| anen| sueo] ove| sven| srea| rew] sven] soeo| vee] sven| soen| suo] sven] sveo| ] sec] oo rse
cucs] x| svea| sveo| ove] oomn| soeal vz | sue| oneor] anei| sven| suto] ssce] svco| amee| oneen] e amen| esto] ove| sver| ssee] rsca] sse] 2veal voeon] ssen| sweo| eso] snce] svee| ] soce] sowe] suce
soo] ssce| smea| sveo| ove] oomn| suwal sseo] | soce| oneor] aei| sven| suto] suce] sueo| ames| oneon] so| anee| e oven] sver| sweo] s sse] soeo| veeon] azen| sven| o] aven] sweo| ] voc] oo suee
sses] aea| swca] sseo] ove] oomn] ite| sreo] ssie| aseo| oneo] sser] avn] sro| ssea] s amee] oneon] sve| aoe| o] ove] sven] suca| 1526 ] sven] sneon] ssen] sven| se] suwn] sveo]| sses] voron] saen] asen

PEP ecopassport 6/6 HAGE-01491-V01.01-EN



